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Name: __________________________________



1
What is the solution to [image: image1.png]2h+8>3h-6





2
What is the solution of [image: image2.png]4x-302-3x+12



?

3
What is the solution of the inequality [image: image3.png]—fx— 172 8x+ 25



?

4
When [image: image4.png]Ix+225(x-4)



 is solved for x, the solution is

5
What is the solution of [image: image5.png]32m—-1)=4m+7



?

6
The solution to [image: image6.png]o+2<2(p+5)



 is

7
The inequality [image: image7.png]


 is equivalent to

8
The inequality [image: image8.png]Sx+3 <26



 is equivalent to

9
What is the solution to the inequality [image: image9.png]4
s
2+5a244a



?

10
Which inequality is shown on the accompanying graph?

[image: image10.png]321012345 6





11
Which inequality is represented in the graph below?

[image: image11.png]<t pp— .
54321012345





12
Which inequality is represented in the accompanying graph?

[image: image12.png]




13
Which graph best represents the solution set for the inequality [image: image13.png]


?

14
Which graph represents the solution set of [image: image14.png]2x—-5¢3



?

15
Which graph represents the solution set for [image: image15.png]2x—-4 <8



 and [image: image16.png]x+527



?

16
In order to be admitted for a certain ride at an amusement park, a child must be greater than or equal to 36 inches tall and less than 48 inches tall.  Which graph represents these conditions?

17
On June 17, the temperature in New York City ranged from 90° to 99°, while the temperature in Niagara Falls ranged from 60° to 69°.  The difference in the temperatures in these two cities must be between

18
Solve the inequality [image: image17.png]-5(x=T) <15



 algebraically for x.

19
Solve algebraically for y:  [image: image18.png]4y-3)=4(2y+ 1)





20
Solve the inequality below:

[image: image19.png]1.8-04y=222-12y





21
Solve algebraically for x:  [image: image20.png]3600+ 1.02x < 2000+ 1.04x





22
Solve algebraically for x:  [image: image21.png]Z(x*A)Z%(S*Zx)





23
Solve [image: image22.png]


 for x.

24
When [image: image23.png]3a+Th > 2a-8b



 is solved for a, the result is

25
Given that [image: image24.png]


, solve for x in terms of a and b:

[image: image25.png]bix-3 zax+T7h





26
The manufacturer of Ron's car recommends that the tire pressure be at least 26 pounds per square inch and less than 35 pounds per square inch.  On the accompanying number line, graph the inequality that represents the recommended tire pressure.

[image: image26.png]
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[image: image27.png]h <14
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[image: image29.png]
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[image: image31.png]
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[image: image33.png]



[image: image34.png]3x+2 < 5x- 20
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[image: image35.png]
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[image: image37.png]p <4
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[image: image39.png]x>9




[image: image40.png]9<x
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[image: image41.png]x>6
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[image: image43.png]



[image: image44.png]
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[image: image45.png]



[image: image46.png]lﬂx8+%r{x42:80+87r
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[image: image47.png]-4 <x <2
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[image: image48.png]-3 ¢<x<4
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[image: image49.png]21012345
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20° and 40°

The greatest difference occurs when NYC’s temperature is 99° and Niagara Falls’ temperature is 60°.  The maximum difference is less than 40°.  The least difference occurs when NYC’s temperature is 90° and Niagara Falls’ temperature is 69°.  The minimum difference is greater than 20°.
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1600 <0.02x
80000 <x




REF:
011925ai

22
ANS:


[image: image59.png]Z(x*A)Z%(S*Zx)

Ax-4)25-3x

4x-16=5-3x
Txz2l

x23




REF:
011234ia

23
ANS:


[image: image60.png]
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[image: image61.png]a>-15b
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